
Whats in the Gift E' ( )
What number is in each gift?

552 + 676 = 954 + 227 = 838 + 360 =

775 + 771 = 322 + 808 = 624 + 747 =

457 + 610 = 631 + 198 = 111 + 684 =

903 + 985 = 821 + 771 = 850 + 350 =

125 + 523 = 189 + 127 = 660 + 836 =

486 + = 893 567 + = 1,078 634 + = 785

537 + = 1,348 949 + = 1,163 430 + = 1,028

481 + = 799 389 + = 776 516 + = 1,294

388 + = 529 691 + = 945 972 + = 1,545

495 + = 1,274 305 + = 910 857 + = 1,736

+ 273 = 1,019 + 520 = 666 + 367 = 1,127

+ 597 = 1,095 + 471 = 1,390 + 975 = 1,765

+ 362 = 1,040 + 995 = 1,565 + 733 = 1,045

+ 552 = 1,181 + 785 = 1,344 + 659 = 1,507

+ 154 = 1,023 + 805 = 1,166 + 509 = 1,193

Merry Christmas from Math-Drills.com!



Whats in the Gift E  Answers' ( )
What number is in each gift?

552 + 676 = 1,228 954 + 227 = 1,181 838 + 360 = 1,198

775 + 771 = 1,546 322 + 808 = 1,130 624 + 747 = 1,371

457 + 610 = 1,067 631 + 198 = 829 111 + 684 = 795

903 + 985 = 1,888 821 + 771 = 1,592 850 + 350 = 1,200

125 + 523 = 648 189 + 127 = 316 660 + 836 = 1,496

486 + 407 = 893 567 + 511 = 1,078 634 + 151 = 785

537 + 811 = 1,348 949 + 214 = 1,163 430 + 598 = 1,028

481 + 318 = 799 389 + 387 = 776 516 + 778 = 1,294

388 + 141 = 529 691 + 254 = 945 972 + 573 = 1,545

495 + 779 = 1,274 305 + 605 = 910 857 + 879 = 1,736

746 + 273 = 1,019 146 + 520 = 666 760 + 367 = 1,127

498 + 597 = 1,095 919 + 471 = 1,390 790 + 975 = 1,765

678 + 362 = 1,040 570 + 995 = 1,565 312 + 733 = 1,045

629 + 552 = 1,181 559 + 785 = 1,344 848 + 659 = 1,507

869 + 154 = 1,023 361 + 805 = 1,166 684 + 509 = 1,193

Merry Christmas from Math-Drills.com!


